7 B |

Columbia

Marking

Model 78 Operation Guide

cleaning/changing is dependent on

e
Installation
= Mounting: For rear mounting the environment and plant air system.
model 78 has (4) tapped holes, and for Do not allow excess water to fill
foot mounting the 78 has (4) through filter bowl.
holes both of which require (4) 10-32
screws to mount marker into position. Pneumatic Controls
The model 78 markers require a sturdy,
level platform for mounting. For Electrical Sequence for Double
optimum power, the marker should be Solenoid Valve: To advance
mounted so that the stamp face is .8 to marker, energize solenoid "A". To
.9 inches away from the part to be return marker and reset, de-
marked. o energize solenoid "A" and
= Air Requirements: Model 78 is air ENERGIZE solenoid "B".
powered for both forward and return Electrical Sequence for Spring
st_ro_ke. Sl recc_>n_1mends .3/ 8 Return Valve: To advance marker,
minimum shop airline. Maan_um' . energize solenoid "A". To return
operating pressure of 100 psi, minimum marker and reset, de-energize
operating pressure of 20 psi. Please solenoid "A" after’ part is marked.
note that the airline length between the Speed Control Adjustment:
valve and marker srlllould not exceed 3'. Adjust speed control "R" to control
Th? UETLEY has_l/ 5 .NPT advance and speed of retract motion. DO NOT
1/8” NPT retracting air ports. install speed control on forward
= Adjustments: Increased air pressure (rod) port of marker.
LSS ar_ld decreased air Note: For most efficient operation,
pressure marks Ilghtgr. To regulate electrical signal energizing solenoid
marking pressure adjust regulator on "A" should be very short
FRL (Filter/Regulator/Lubricator combo approximately .06 to .10,seconds. E
unit). Sold separately. )
. Suggested Pneumatic Control Diagram (8]
Maintenance .
Shut off all air and electrical power prior to |Marker 'E
performing any and all maintenance. | | =
” | —
= Lubrication: Add 10W "light" industrial 3/8" Tube 2
hydraulic oil to lubricator bowl and ‘R E
adjust oil flow to approximately 1 drop 3/8” Tube -
for every 30-50 cycles. The Model E
78XX-XX-XX-X-NL is a non-lube - Sol “A” 0
system and does not require any W .R\ jA—Z cr
lubrication. Sol “B” Standard 4-Way Valve g
= Air Filter: Check and clean /change as L . 3/8” Shop Air g
required. The frequency of @ | —— g

/
FRL Combo Unit

27430 Luckino Dr. Chesterfield M1 48047 & 586.949.8400 @ 586.949:8401




WOIJWRIqLIN]OI MMM,

Notel rear advonce air port 1/4 NPT for 078RKSN 78-RKSN Ri r Kit

addltlonal power, and fraont return alr port 1/8 D7BRKSNNL wml_m_AMZ|zan013|_|:Um
NPT to slow return stroke. Includes:
0783  78-3 Set screw

0785  78-3 O-rin
Tapped holes for mounting 174 NPT 0786 78-6 DIS_:M

(4> 10-32 screws 0787  78-7 O-ring
0788 78-8 Set Screw
1/8 NPT 0788A 78-8A Rod Key and 0O ring
0781R1 78-1R-1 Houslng rear maunt
\ 0785  78-5 O-ring

0782AK 78-2-AK Rod siyle A, keyed

Ia

Through holes for
mounting €4> 10-32 screws

07815  78-15 SHC.SCR.
\l 0781F1 78-1F-1 Houslng foot mount:
> 07814  78-14 SHCSCR.
: 0782AN 78-2-AN Rod style A, non-keye
0782BN  78-2-BN Rod Style B, 3:%32.\ \\ g
(<
\ 0783 78-3 Set screw 0784K  78-4K Keyed Bearing

07816 78-16 O-ring 0784  78-4 Bearing non-keyed

07812 78-12 return position
sensor

0782BK 78-2-BK Rod style B, keyed
0786 78-6 O-ring

\;Dwmm 78-8 Set Screw
0787  78-7 O-ring

Ny

0
£
B
o
(&

Model 78 with 1" Stroke Parts List

07811 78-11 Spacer

07813 78-13 n-s_sm\

0781F1P 78-1F-1P
Foot mount 1 stroke
(Far prox.

-
=
=T
oo
-y
wr
2
o
=)
iy
L
-
=
=T
B
o
=
.
o
0
]
L
o
o
-
o2
4
=
=

Gl

aQl
e

o

a
-
Q

Rod Style A Stamp Capaclty

/ Rod Style B Stamp Capacity 4 pcs 1/32’ character CMFD3 type
1 pc style CM7X standard marker Insert 4 pcs 1/16° character CMFO6 type
can mork up to 3/16* character 2 pcs 1/8° character CMF13 type

Dy

Through holes for
mounting <4) 10-32 screws

27430 Luckino




Ia

0
£
B
o
(&

Model 78 with 2" Stroke Parts List

WOIJWRIqLIN]OI MMM,

Noter rear advance oir port 1/4 NPT for

078RKSN 78-RKSN Repulr Kit
ool ti L o F t t { t 1/8
Frt sl el LAl Al D78RKSNNL 78-RKSN-NL Non-—Lube
Includes!
0783  78-3 Set screw
Topped holes for mounting 174 NPT 0785

(4) 10-32 screws
0787 78-7 O-ring
0788A 78-8A Rod Key and O ring

0781R2 78-1R-2 Houslng rear mount
\ 0785 78-5 O-ring
\ 0782AK2  78-2-AK-2 Rod style A, keyed

Through holes for

mourting 4> 10-32 screws B2  78-2-BK-2 Rod style B, keyed

0786  78-6 O-ring
\ 78-8A Rod Key and 0 Ring

\ 07688A
07815 78-15 SHC.SCR “ 0787 76-7 O-ring

0781F2  78-1F-2 Houslng foot moun .
07814  78-14 SHCSCR
0782AN2  78-2-AN-2 Rod style A, non-keyed
0782BN2 78-2-BN-2 Rod Style B, _‘_o_‘_lrm(mnl\ N\
. €
, 0783 78-3 Set screw @ 0784K2  78-4K-2 Keyed Bearing

?ﬂllso

07812 78-12 Return pasltion sensor

o781l 78-11 mupnms\

07813  78-13 O-ring

0784  78-4 Bearing non—keyed

Rod Style A Stamp Capacity

/ Rod Style B Stamp Capaclty 4 pcs 1/32* character CMFO3 type
1 pc style CM7X stondard marker Insert 4 pcs 17167 character CHFOS type
can mark up to 3/16° character 3 bee 1/8" character CHFL3 tyme

Through holes for

0781F2P ~ 78-1F-2P mounting <4> 10-32 screws

Foot mount 1* straoke
(For prox.)

-
=
=T
oo
-y
wr
2
o
=)
iy
L
-
=
=T
B
o
=
.
o
0
]
L
o
o
-
o2
4
=
=

Gl

aQl
e

o
a
-
Q

Dy

27430 Luckino




Columbia

Viarking
Tools

Model 78G with 1" Stroke Parts List

www.columbiamt.com

27430 Luckino DOr. Chesterfield M1 48047 & 586.949.8400 & 586.9498401




Columbia

Viarking
Tools

Model 78G with 2" Stroke Parts List

www.columbiamt.com

27430 Luckino DOr. Chesterfield M1 48047 & 586.949.8400 & 586.9498401




